4 Times Table

Multiplication Wheels

=

F

(s

N

—
&)

%/

[HEY
@)

(6]

w

w

co
ol
i

%/

(Y
N

|
—
[N

o

i

= Ul
w

[N
@)

y

N
—
N

i

S~ N
~

¢




4 Times Table

Multiplication Wheels
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32
12 /\2
3 4
10
40\ 4
48
5.
9 X 40 40
A
11 .
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28
6.
48
24 40
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4 Times Table Multiplication
Wheels Answers

1 4,
20| 8 8 | 36
16/ \2 127\ 12 32/ 219\ 4
47,3 8 v, {1
7 10 3 12
28 X6 |8 40 12 X4 |5 48
24 | 32 16 | 20
2 5
40 36 A IAA
12 /NO[ 9N 24 24 /N [T\ 12
3V, 6 6 7,3
3 11 - 10
32 5|7\ 44 28 \(5 |2\ 40
20 | 28 20 | g
3 6
4 | 32 20 | 16
12 /\118/\ 28 4 /NS 14\ 28
3 Y. 7 1 v, 7
5 12 3 11
0 X9|2X 48 32 Y6 | 9 a4
36 8 24 | 36




4 Times Table Multiplication
Wheels Answers

1 4,
20 | 32 8 24
518 216
ZVA 2\ 12 12 A "\ 4
4 4
7 10 10 12
28 \4 [12\¢ 40 40N 4 |5 X 48
16 |48 16 | 20
" K16 | 36 R |4
4|9 /\ 40 40/\1 11
12/, 10 10 4, \16
4 4
8 \2 11 / 9 /36
57X 44 28 \“s5 |8
20 | 28 20 | 32
3 6
4 | 8 20 | 8
1 (12 40 X5 |7
12 /3 6 24 10 X7 28
5 4 37\8 3
20X 912X 16 12|99 12
36| 8 48 | 36
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